Section 7.3: Trigonometric Substitution

Comparison of two integrals.
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Some useful integrals.

: 1 1
/sec r dr =In|secx + tanxz| 4+ C /&;ec3 x dr = 5 Sect tanax + 3 In|secx + tanx| + C
/c.‘sc r dr =In|escx —cotx|+C /

: -1 1
csed ¢ do = > cscx cot T+ 3 In|escx —cotz| +C

Expression Substitution Identity
a? — 2 r=asinf, = <0< 3 1 —sin?f = cos?
m T =atanf, _QF<H{% 1—|—tan96=sec29
w2 —a? | z =asech, O§ﬁ<%orﬁ§6<3; sec?f — 1 = tan?0
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Compute these integrals.

> cos’f=1—sin" 0
Fxample: / \/10 i o ~ sec?fh =1 + tan26
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1
Example: / 203

dx cos?f=1—sin?0
sec?fh =1 —|—‘tan2 7

41&429 - 65542'6 -1

— tan2f6 = sec?f —
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1
Example: /7 dr . .
P J 24/16 — 94 cos’f=1—sin’f
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sec?f =1 —|—tan26
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cos?f=1—sin?f
2 2 Z E——sec?f =1+ tan?6
Ay = A 0%

tan?f = sec?f — 1
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Page 7: Complete the square.

Review of completing the square: (A -
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Compute these integrals.

Example: /; dr 249 _ o2
Vir — 12 cos“#=1—sin"f
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